, y e =1 ‘R o -
PRAE 109 £ER DTgﬁi R R T

P EFEFEAS (H)CE)
{Eéﬂi:ﬁ'l&:lzg 99/“3::;[’:‘

I 3L (45 )

2
1. The local maximum value of the function g(x) = = + 2 sin z in the interval [0, 27] is % +V3

\S)

. Suppose that f(0) = 4 and f’(x) < 3 for all values of . How large can f(2) possibly be ?
Ans : 10

W

9 9 6
. If it is known that/ f(z)dx =13 and/ flz)dx =4, ﬁnd/ flz)de= 9
1 6 1

n

. Express lim Z(mf—i—xl sin ;) Az as an integral on the interval [0, 71]. Ans : / (2° + xsinx) dr
0

AN

n—oo 4
=1

9]

. Let f(x) = v/6 — x. The increasing interval of f is (—o00,4) . The decreasing interval of
fis (4,6)

6. Find lim (V922 +x — 3z) =

T—00

|@|H

7. Find lim (z — /z) = o0

T—00

8. Let f(z) = The slant asymptote of fis y =x — 2

(v +1)%
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1. Show that the equation 22 4+ cos x = 0 has exactly one real root.

, for all @ and b.

2. Use the Mean Value Theorem to prove the inequality ‘ sin @ — sin b| < |CL —b

b = b—a
3. Use the definition of the integral / f(x)dx = lim Z f(x;) Az where Az = :
a 1=1

n—o00 4 n

b b2_a2
X :a—l—i-Axtoprovethat/ rdr = —5
a

0
4. Evaluate the integral by interpreting it in terms of areas / (1 +v9 — x2) dx.
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5. Let f(z) = xf T

(a) Find the intervals on which f is increasing or decreasing.

(b) Find the intervals on which f is concave upward or downward.
(c) Sketch the graph of f.

202 + 1

6. Find the horizontal and vertical asymptotes of the function f(sc) = ﬁ
x P
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L5 I * ik
1| w 3.2 ¥4 19
2 153 3.2 — % 42 31
3 | w 3.4 — % 41 32
9 33
4| 34w 4.2 — % 35 27
5 (a) f(x)is decreasing on (—o0, 1), (1, 00).
(b) f(x)is concave upword on (1, c0), is concave downword on (—oo,1). | 3.5 — % 42 9
(c)%
. . 5 , : +v2 )
6 The vertical asymptotes is © = 3 the horizontal asymptotes is y = = 34— 3L 4
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